4. Arrange the following fractions from the-smallest-to the greatest.

smallest

5. The table below shows the mass of 4 pupils.

3 3 3 3

10° 6' 12" 8

Name of Pupils | George Susie Joey Betty
Mass of Pupils 45 kg 38 kg 35 kg 60 kg
a) The heaviest pupil is
b) and have a total mass of 83 kg.
6. | [ T T 71 LT T |
.0 1 2 3 4 5 6 7 8 10

What is the total length of the pencil and _erasér?
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Answer:

cm




7. Draw the hands on the clocks to show the given time.

a) Thetimeis 3.50 - b) Thetime is 1 hour after 2 o’clock.

8. This clock is 30 minutes fast.
' What is the actual time?

Answer:

9. This clockis 1 hour slow.
What is the actual time?

Answer:
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10. Sam took 30 minutes to walk from his house to the library.
He reached the library at 10.00 a.m.

30 minutes before 10.00a.m. is

Answer:

a.m.

11. 5 similar story_ books cost $30.
What is the cost of 1 book?

Answer: $

12. Sally-bought-a dressfor $19.
She-bought-anotherbag-whieh costs $12 more.
How much did she pay for the bag?

Answer: $
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13. Anne has a piece of ribbon. She used -2— of it fo make a.bowtie.

She used g o__f__ it to make a wristhand.

What fraction of the ribbon did she use altogether?

bowtie ~wristband

Ribbon

Answer: .

"14. The figure below is cutinto 8 equal parts.
What fraction of the figure is not shaded?

Answer:
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For Questions 15, 16 and 17, show your workings clearly in the space
provided. '

15.  Study the diagram below carefully.
The mass of 5 similar marbles is 40g.

Marbles Ball

Marble 50g

N L NN S AN R
/\ A

l@l L7 |

/\

(@) What is the mass of 1 marble? (2 mérks)

The mass of 1 marble i$ Q.

| (b) What is the mass of thé ball? (2 marks)

The mass of the ball is g.
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16. - Study the diagram below carefully.

1@ 186m  LEOHS 219 m

Mr Lim's | School
Home

“a) Mr-—l:‘?mwafks%omork'—'indcown ‘every day.
What.is-the.distance:he walks. to.work every day? (2 marks)

Mr Lim walks m to work every day.

-b) How-nueh furtherdoes Mr-Lim:have-to walk to-town after. sending
 his children to school? (2 marks) :

He has {o walk m.
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17. Mike has $503 in his wallet.
Jason has $150 less than Mike.

_(é) How much does Jason have? (2 marks) |

Jason has $

(b) How much money do they have altogether? (2 marks)

They have $ altogether.

Have you checked your work? ©

8
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EXAM PAPER 2013
SCHOOL : AI TONG SCHOOL
SUBJECT: PRIMARY 2 MATHEMATICS

TERM : CA2

Q1) 925¢ or $9.25
Q2) $7.30, $6.25, 600¢
Q3) a) smaller

b) greater
Q4) 3/12, 3/10, 3/8, 3/6
Q5) a) Betty

b) George and Susie
Q6) 11cm
Q7) a)

a) Thetimeis3.50

b)

b) Thetime is 1 hour after 2 o'clock,
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Q8) 3:30
Q9) 11:30
Q10) 9:30am
Q1) $6
'Q12) $31
Q13) 5/6
Q14) 5/8

Q15) a) 40g - 5 = 8g
b) 200g + 50g = 250q
250g - 8g = 242g

Q16) a) 219m+ 186m = 405m
b) 200m + 19m = 219m

Q17) a) $503 - $150 = $353
b) $503 + $353 = $856
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